Grammar model answer
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b) 2 messier
3 the highest
4 happler
5 the best
6 the cleverest/the most clever
7 more expensive
8 more quite/quieter
9 the youngest
10 bigger
2 more easily 5 more slowly
3 more casually 6 calmly
4 the most carefully
2 bigger, B 4 memﬂst!c
3 the highest, A 5 the heaviest, B
2 less 4 shorter 6 tall
3 younger 5 the heaviest
2 A: Pirates of the Caribbean is better than Star
Wars.
B: What? | think Star Wars s the best film ever
made.
3 A: Cindy Crawford is more attractive than
Claudia Schiffer.
B: What? | think Claudia Schiffer is the most
attractive model in the world. N
4 A: Elton John is more talented than Robbie
Williams.
B: What? | think Robbie Williams is the most
talented singer in the UK.
5 A: Selfridges is busier than Harrods.

@

: What? | think Harrods is

department store in London.
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